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Business Statistics
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Note : Answer all questions. All questions carry equal
marks. Log Table and Graph Paper will be
supplied on demand.
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What is meant by Data ? Discuss their main

types.
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15 40 ElGEIELE
20 37 o (i #) | weed A
25 31 30-40 3
30 23 40-50 51
35 13 50-60 25
40 6 60-70
45 0 70-80 9
. - 80-90 7
Zilliw::gean,dmn:ledlan fnd made front ‘e Following is the distribution according to the
age of 100 members of Parliament. Find
Sales more than | No. of Salesmen standard deviation and coefficient :
(in 7) Age (in years) | No. of Members
15 40 30-40 3
20 37 40-50 51
25 31 50-60 25
30 23 60-70 5
35 13 70-80 9
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60 70 ko 3% 44
80 90 XNy & foaedi Faimam 24
Find coefficient of correlation from the
100 100 following data :
s . X Y
Calculate Karl Pearson’s coefficient of Number of Items 10 10
Skewness from the following data : Mean &
Marks (less than) | No. of Students Sum of Squares of Deviations
from Actual mean 36 44
20 18 Sum of Deviations of X and ¥ 24
40 40 379aT / OR
TegEry R wawmE H 9% i
60 70 P — L BB
80 90 i
Distinguish ~ between correlation  and
100 100 regression. Also disc}xss the various methods
of measuring regressions.
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1985 | 1992
T Y 29% 140 | 147
fetan 15% 30 | 30
FI 25% 75 | 66
EC] 10% 25 | 20
fafay 21% 40 | 52

1985 &I &N H 1992 F SeA-frafe =1
swet ¥ ¥ qiady femr 2 ¥2

The following informations are available about
the budget of Middle-class family in a city :

Items Percentage Price
of Expenses

1985 | 1992

Food 29% 140 | 147

Rent 15% 30 | 30

Clothing 25% 75 66

Fuel 10% 25 | 20

Misc. 21% 40 | 52
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What i
as c’(’) :lhanges In ﬂ}e cost of living figures of 1992
Pared to with thy, of 1985 are seen ?

What is time series ? What are the various
components of a time series ?
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A bag contains 14 balls of which 6 are
red, 3 yellow and 5 black. 3 balls are
drawn successively without replacement.
What is the probability that they are
drawn in order red, yellow and black ?
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Four passengers board a bus in which

there are 6 empty seats. In how many
different ways can those passengers sit ?
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An ice-seller eamns ¥ 200 per day in hot

season but he looses ¥ 75 1n cold season.

Find his expectated income per day. The
probability of hot season is 0.6.

() 8 W H M@ @ T THAET

Explain random variable with a suitable
example.
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